/ Math 3 Honors Unit 3 Fall 2017

e Unit 3 Test Review Name: AVL(.‘ WEN k £ lj

1. Factor the following expressions:
a)8b3-27 = (20-2)(AL% 4 Lo + 4)
= i) ri w"—:’—\\év +%-2 'J’Z)
Ro-D)Qr 3+ 2VZ Jot 22222

8

c)4c®+12c+9 - (Qc . 9))&’
d)3d2-16d +5 - (30(-1‘[4-5')

2. Find the exact roots of the following polynomial equations:

a)3x*-7x3-3x2-7x-6=0

Xz -2y, B, U, -1

b)x*—2x3-14x2+12x+48=0
— ! o
Xz-2 & 6, -V

c) 0=x*+3x2-4
x4\, A, - A

3. Is(x +3)afactorof f(x) = —2x* + 3x® — 4x? + x — 3? How do you know?
f(2)--285 #0 2 (x+3) o MOT a fach

by the Fachr Theortm.

4. Show whether -4 is a zero of g(x) = x3 — x2 — 14x + 24.

f[-4) = 0 therefore -4 is a zero

Remainder Theorem gives you a remainder of O for -4 therefore -4 is a zero
OR

Graph it on the graphing calculator...It crosses the x-axis at -4 therefore -4 is a zero.
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5. Graph the function p(x) = —2x3 + 5x% + 4x — 10, and answer the followmg questlons ‘
a. Relative maximum: (£ 2)

b. Relative minimum: (=.2%%2 -10.704) ~

S - . 237
. Increasing interval: ('3’ 7/

APV "')%7))
d. Decreasing interval: ( 2 00)

e. Domain: (- °0, o)

f. Range: (’ <, 00) !

.

- ok

» => o 5 N -
g. EndBehavior: , -, 0 Y e .
h. Zeros: -1.414, |.414, 2.5 j ; 5 , Y

6. The number of eggs, f(x), in a female moth is a function of her abdominal width, x, in millimeters,

modeled by f(x) = 14x3 — 17x% — 16x + 34. What is the abdominal width when there are 211

eggs? X = 3 habh BYDH\ 'h‘lﬁ 'fﬁ-}o\ﬁ O‘F VM FVV ‘F('X)")

AM

7. The total number of books sold from 1995 to 2005 at Flyleaf Books can be modeled by the function
f(x) = 4x*+14x*+200x+1560 and the number of kinds of books in Flyleaf Books from 1995 to 2005 can
be modeled by g(x) = 2x + 12, where x is the number of years since 1995. Using division, find the

average number of each kind of book that Flyleaf Books sold.

Avernge numbver Je each kind of{ Lok = A -Bx + 120

8. Find the factored form of a polynomial that has a root at /5, a double root at -3, and a root at 2i. Assume the

feo = ;)(x —«\f;)(x+@Xo<+%)z(x-:u)(x+2;)

scale factor is 2.
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cubic funchon
9. A pelynomiathas roots at -5 and 2/3, and goes through the point (4,-30). Write the equation in factored form.

‘\ﬁ(?() - (/x *D }iiy “i,/)/‘;l(’)( + C ) = ('Y +rzz.)(;)(" 3/,‘ )(y .f'/ )

Use (4 -320) 40 j\
-rr\n/\ C

10. A cubic function has a root at (3 — 2i) and goes through the point (3,16). Write the equation in fa(ctoref] and '
use "'/',-. t)

general form.

~

AF(Y\; (/V '(7,—23)”)( x-(%x A))( x +C) fiad

AN/ ~.‘ A
= (xG-20Y x-B+2))( %+ |

4

12.

BUSINESS For the 12 years that a grocery store has been open, its annual
revenue R (in millions of dollars) can be modeled by the function

R = 0.0001(—¢* + 1213 — 77t + 6007 + 13,650)

where ¢ is the number of years since the store opened. In which year(s) was
the revenue $1.5 million?

{. ’JJ L:)f(\’ < s tL\L Sjra(e O')yy\?(t

[ fom e table of RE)]

13. Given the perimeter, P, of a triangle, find the length of the missing side, in terms of x.

P=2x"+4x?+6x+3

72 x"t 19

9 2+ 2 -4x+6

X +7x-8
14. A

concrete walkway of uniform width surrounds
a rectangular swimming pool that is 10 m wide and 50 m long. Find the width of the walk if its area

. 2 Y h
is 864 m". hrea = (90 + odw ,-(M + Qw> "(IQD(CU}

|
1 C64 = 560 + 120w + 4w? - DO

%) Omr \
o) /ﬂ. 1

-

b 1 W= &wm
15. Given the volume, V, of a box, find the length of the missing side, in terms of x.

NEXT PAGE C_-—(,\/;
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V=22 + 172 + 46x + 40 G

2 2x ¥ 5

16. Given the volume, V, of a box, solve for x.

Volume = 40 s D
olume e B [ ‘pDW\ ‘“/16 '*Aijiﬁ db V:(Y—'YJJ,%Y'A)‘I‘\

17. A pyramid can be formed using equal-size balls. For example, 3
balls can be arranged in a triangle, then a fourth ball placed in the

middle on top of them. The function p(n) = £ n(n +1)(n +2)
gives the number of balls in a pyramid, where n is the number of
balls on each side of the bottom layer. (For the pyramid described
above, n = 2. For the pyramid in the picture, n=5.)

Evaluate p(2), p(3), and p(4). Sketch a picture of the pyramid that goes with each of these

a.
values. Check that your function values agree with your pyramid pictures.
P(2) = 4
(=) = 10
(4 20
b. If you had 1000 balls available and you wanted to make the largest possible pyramid using

them, what would be the size of the bottom triangle, and how many balls would you use to
make the pyramid? How many balls would be left over?

P([/) " Q(Oq [‘PYDVH the '}/\J'/lf_ d’o' F?(h):(
n= 17
oD - 464 = ) \&6*’ DVer

O
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